=
<

] s f
= g |
S 9/10_1:;I
% 5 F
1072 n
107 F
1073 E [
10’35—
10k : i [ : : :
PR s P : * oL e 2 ; -
5 :I 5 5 5 g F 5 : :
e + ----- R P R
C e AP LI : Peene” mee v
0 2 10° 100’1 1 10 02 10°
10 1 TPlpg)T (PCA tloobeamlinef) PP, (PCA t% beamlinef)

—s=— DQM_V0001_R000000001__Global__mkFitbase_ RECO
—— DQM_V0001_R000000001__Global__CMSSW_X_Y_Z__RECO

= =~ I
E g =
2 S C
* o |
° =3
5 [e]
107"
1072 13gk i 1072
o10° 2107
3 IS
o o
0.5

2 3
TPlp?T (PCA tjbobeamliné'f)

o p/p.)

oll ; e ;
2 3
TPlpg)T (PCA t%)obeamlin%)o




	Contents
	Page 1


